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QUESTION 1

There are two distinct lists of grades that should be available in two separate business units of your 

organization. During testing, you notice that the lists of grades of the two business units are not per the 

requirement. 

What went wrong in the setup? 

A. All grades are associates with the COMMON set only. 

B. An incorrect grade ladder is attaches to the two business units. 

C. The grade rates of the two business units have been interchanged. 

D. Incorrect Reference Data Sets (Set ID) are used with each Business Unit. 

Correct Answer: D 

 

QUESTION 2

Which option correctly describes free-form content types? 

A. They contain relationships and do not contain properties until you add them to the profile type. 

B. They do not contain relationships but contain properties as part of the profile type. 

C. They contain relationships and properties as part of the profile type. 

D. They do not contain relationships or properties until you add them to a profile type. 

Correct Answer: D 

 

QUESTION 3

When an HR specialist searches for Awards and Honors, such as "PhD", the Person Gallery page displays only the
direct reports of the HR specialist who comply with the honor. When the HR specialist searches for areas of expertise,
such as "Oracle Global Human Resources Cloud", it displays all the employees of the organization who has Oracle
Global Human Resources Cloud as their areas of expertise. Identify the reason for this behavior. 

A. HR does not have access to other departments where employees are "PhD". 

B. HR has access to Oracle Global Human Resources Cloud department. 

C. PhD is a sensitive keyword and is used elsewhere in the person\\'s information. 

D. Areas of expertise is public information. 

E. HR does not have access to the "Experience and Qualification" card. 
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Correct Answer: D 

 

QUESTION 4

An organization has multiple legal entities that need to be registered with more than one jurisdiction. Also, legal authority
information needs to be printed on statutory reports. As an Oracle Global Human Resources Cloud implementation
consultant, which three options must you be aware of while defining legal jurisdiction and authorities for this
organization? (Choose three.) 

A. Because there are multiple registrations, at least one jurisdiction must be defined as the identifying jurisdiction. 

B. When a legal entity is created, one legal reporting unit is automatically created for that legal entity with a registration. 

C. Income tax jurisdiction needs to be created to report income tax to the legal authority. 

D. Legal authorities are mandatory in Oracle Global Human Resources Cloud. 

E. Legal authorities are defined in Enterprise Structure Configurator. 

Correct Answer: ACE 

 

QUESTION 5

During implementation, a two-tier employment model - multiple assignment has been set up. Now the 

client wants to store contract information. 

Which statement is true about changing the employment model setting after implementation? 

A. The client change from any two-tier option to another at any point of time, irrespective of the existence of work
relationships. 

B. If employees exists within the enterprise and legal employer the person model setting changed as there are not
contract options that support a contract with multiple assignment. 

C. The client can have both: a two-tier multiple assignment employment model can remain for its existing employees,
and a two-tier multiple contracts single assignment can be created to hire new employees with the same legal
employer. 

D. The client cannot move form a two-tier multiple assignment to two-tier single contract and single assignment after
implementation. 

Correct Answer: C 
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